
-These lines are ___________.

-The slopes are ___________.

-  When solving, you will get an _____________
statement  (ie: 0 = 12).


Parallel
Coinciding
Intersecting


- These lines lie ____________ of one another. 

- When solving, you will get an _____________
statement  (ie: 0 = 0).


- These lines meet at a _____________.

- The solution is written as an  _________________.  

- When solving, you will get ________ answer.  


y = x + 6
y = x – 3 
Systems of  
y = -5x – 2
y = -5x – 2

y =4x – 2
y=3x – 1
  Equations
Infinitely Many Solutions
One
Solution
No Solutions

